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Paper-6: COMMERCIAL AND INDUSTRIAL LAWS AND AUDITING

Full Marks: 100 Time Allowed: 3 Hours
The figures in the margin on the right side indicate full marks.
Please: (i) Answer all bits of a question at one place
(ii) Open a new page for answer to a new question

(iii) AHempt the required number of question only.

Answer Question No. 1 and Question No. 5 which are compulsory and attempt any two from the
rest in Section-1 and any two from the rest in Section-II.

Section-I|

(50 Marks)
(Commercial and Industrial Laws)

Question 1: Answer all questions [2X7=14]

(i) S induced R to buy his motorcycle saying that it was in a very good condition. After taking
the motorcycle, R complained that there were many defects in the motorcycle. S proposed to
get it repaired and promised to pay 40% cost of repairs. After a few days, the motorcycle did not
work at all. Now R wants to rescind the contract.

(ii) Z & Co. through a newspaper advertisement announced a season end sale of woolen
garments and exhibited the articles in their showroom with the original and the reduced prices
marked on them. H, who had read the advertisement, picks up a woolen sweater marked ¥
500/- as original price and ¥ 200/- as reduced price. But when H offers ¥ 200/- at the counter, the
salesman refuses to accept the amount and hand over the article to H. State the rights of H
against Z & Co.

(iii) B buys goods from A on payment but leaves the goods in the possession of A. A then
pledges the goods to C who has no notice of the sale to B. State whether the pledge is valid and
whether C can enforce it. Decide with reference to the provisions of the Sale of Goods Act, 1930.
(iv) XYZ Ltd is running into losses and is unable to pay minimum rates of wages to its employees.
The employees pleaded that employer is under obligation to pay the wages at minimum rates.
XYZ Lid. Intends to go to the court challenging the constitutional validity of the Minimum Wages
Act, 1948. Will the company succeed?

(v) Safety officers in any factory are optional and not mandatory. Comment

(vi) P purchased from Q 5000 tins of canned fruit o be packed in cases, each containing 50 tins
but Q supplied cases containing 25 tins. Does P have right to rejects the goods?

(vii) Gratuity can be attached by an order of the court. Comment

Question 2:
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(i) Mr. Saxena received cheque dated 02.05.2014 for ¥10,000 from Mr. Malhothra towards cost
of furniture. On 13.11.10 Mr. Malhothra closed the Bank Account. What action Mr. Saxena can
take to receive the amount against the cheque which is still with him.

(ii) Jayanta, the owner of a car handovers the car with key to Partha (the mercantile agent) to
sell the car at a price not below ¥ 1, 00,000. Partha (the agent) sold at ¥ 90,000 to Amitava, who
buys in good faith and without notice of reserve price/or any fraud. Partha misappropriated the
money also. Jayanta filed a suit against Amitava to recover the car. Advice with reason whether
Jayanta can succeed.

(iii) Write short notes on ‘Forfeiture’ based on Gratuity Act, 1972
(iv) Under what circumstances pension under E.P.F can be applied for by an employee?

(v) Amit draws a bill on Raja for ¥ 10,000 payable to his order. Raja accepts the bill but
subsequently dishonours it by non-payments. Amit sues Raja on the bill. Raja proves that it was
accepted for value as of ¥ 8,000 and as accommodation to Amit for ¥ 2,000. How much can
Amit recover from Raja? Decide in the light of the provisions of the Negotiable Instruments Act,
1881?

[4+4+4+4+2 = 18]

Question 3:

(i) Saxena lets to Mr. Menon for hire a horse for his own riding but Mr. Menon drives the horse in
his carriage. What action Saxena can take?

(i) As per order, Mr. Malhotra sent some goods to Mr. Paul at Kolkata through Rail. The Station
Superintendent of Howrah station informed Mr. Paul that Goods are held at the Station at Paul's
risk and cost. In the mean time, Mr. Paul became insolvent. Mr. Malhotra wants to enforce right
as an unpaid seller. Comment.

(iii) Ashim sells 1600 kgs. of wheat out of large quantity lying in his godown forwarded to Bablu.
Out of these, Bablu sells 600 kgs. to Chandan (wheat yet to be ascertained). Then Chandan the
delivery order signed by Bablu to Ashim who confirmed that wheat would be dispatched in due
course. Bablu then becomes insolvent. Ashim refused to deliver to Chandan. Advice Chandan
based on rules. Comment

(iv) Mr. Batliboi bought 50 kgs. of potato against cash payment from Mr. Joshi under a Contract
of Sale but half of consignment was rotten and Mr. Joshi refused to change the rotten potato nor
refunded the value. Comment.

(v) 'A ' (workman) is laid-off by his employer B' because of strike in another part of 'B's
establishment. 'A’ is entitled to get compensation for lay off under the Industrial Disputes Act,
1947. Comment

(vi) A workman while returning home after duty was murdered within the premises of the
employer. A's widow is not entitled to compensation under the Workmen's Compensation
Act 1923. Comment

(vii) Maker of a cheque is not liable under N.l. Act for dishonor of cheque under certain
conditions. State such conditions.
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(viii) While discussing, Rajib told his friends that, ‘Contracts need not be performed under certain
circumstances’. Deepak objected to it. State the correct position.
[(7 x 2) +4 =18]

Question 4:

(i) Comment on the following based on legal provisions (no mark for wrong reasons or
justification):

A. Mr. Menon offered on 1st December, 2013 to sell his house to Mr. Pandey at T 35, 00,000. Mr.
Pandey accepted by email on 2nd December, 2013 at 8 AM. and at 10 A.M. Mr. Pandey sent a
Fax revoking the acceptance. Both email (i.e. acceptance) and Fax (i.e. revocation) revoked
Menon at the same time. Hence this was valid. Comment.

B. Provisions of Indian Partnership Act 1932 are applicable to LLPs and the body Corporate may
be partner of LLP.

C. On 01.10.2014 Mr. Barun kept his Cow under the custody of Mr. Tarun for one month and paid
¥ 1000 for maintenance. On 15.10.2014, the Cow gave birth of a Calf. On 30.10.2014. Tarun
returned the Cow retaining the Cailf. Justify Tarun’s action.

D. A suretly is discharged from his liability where there is failure of Consideration between the
Creditor and the Principal Debtor in a Contract of Guarantee. Comment

E. Whether Mr. Sham who joined the company on 1.7.2010 and died on 30.11.2014 is entitled
Gratuity. Answer citing Rules.

F. Manager of ABC Lid. told that total amount of deduction which may be made from (he
wages of any workman during a month shall not exceed 90% of such wages. - State Legal
provisions.

G. ‘A’ the buyer ordered a patent smoke consuming furnace by its Patent name for his brewery
on ‘B’. Furnace received was however found to be unsuitable for the purpose. Hence seller is
responsible.

H. ABC Lid. who incurred heavy loss during 2013-14 has not paid Bonus to any of its employees.

I. Works Manager has deducted ¥ 500 from wages towards the cost of tools and raw materials
supplied to workers for purpose of employment (Payment of Wages Act).

[?%x2=18]
Section-ll
(50 Marks)
(Auditing)
Question 5: Answer all guestions [2X7=14]

Comment on the following:
(i) Procedural error arises as a result of fransactions having been recorded in a fundamentally
incorrect manner.
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(ii) Test checks refer to the out of routine checks that are carried out in the normal course of
Audit.

(iii) The auditor examines debit notes to vouch sales return.

(iv) Inventory turnover ratio is calculated by the auditor to obtain evidence concerning
management to ascertain about valuation of inventory?

(v) Year end stock ready for exports are proposed to be valued at realizable value.

(vi) An adverse report is one where an auditor gives an opinion subject to certain reservation.
(vii) Shareholders, by a majority vote, have authorized the Board of Directors to keep the books
of accounts of the company in its Administrative Office, as against the earlier practice of
keeping them in the Registered Office. No Government authority has been informed about this.
Company contends that this practice is in order.

Question é:

(i) A company has paid interest on share capital to the shareholders, as there was a long
gestation period before the company would start making profits. As the Statutory Auditor of a
Public Limited Company, comment on the situation, based on Companies Act, 1956.

(ii) How will you vouch / verify stock lying with job-worker?

(iii) State the difference between India’s GAAP & US GAAP regarding Related Party Transaction.

(iv) Briefly list out the points of distinction between the Companies Auditor's Report Order (2003)
(CARO) and section 227 of the Companies Act, 1956.

(v) How will you verify imported plant & machinery?
[4+4+2+4+4 = 18]

Question 7:

(i) A company running a Departmental Store and having total turnover of Y150 Cr. during the
financial year, need not get its branch audited whose turnover is ¥2.85 cr. during the same year.
Justify.

(ii) The cost auditor of a company can be its internal auditor, and is to be appointed by the
shareholders of the company. Comment on the validity.

(iii) Subsequent to the issue of audit opinion, the auditor of a company came to know about an
important matter about the company. Had he known about this earlier, he would have given a
different opinion. How you will as an auditor deal under this situation?

(iv) State the scope of Audit Committee in a big public limited company
(v) A company has purchased Plant and Machinery from a foreign supplier on installment

payment basis. The liability has been classified as “Secured Loan” by the Company. Give your
opinion on the above.
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[4+4+4+3+3 = 18]

Question 8:

(i) Write a note on ‘Audit in Depth’.

(ii) What are the advantages of Working Papers?
(iii) Write short note on - Types of CAATs.

(iv) List the areas in which internal audit operate.

(v) What are the internal control aspects in relation to Bank Reconciliation Statement?
[4+4+5+2+3 = 18]
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